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fader (Directions)  :-

1. 39 U U3 H §{f 26 U & | A T fard g |
There are in all 26 Questions in this question paper. All question are compulsory.
2. Ul 2 FeifRa ofd S9a wv eifdsd |
Marks allotted to the questions are mentioned against them.
3. TP U Bl WMYdd Ufed oI FYfeR Sk Qg |
Read each question carefully and answer to the point.
4. YT AT 1 9EAHUT U B 39 U @ UG @IS B Sk § IR feed Ry I E
HE! faded oo IR gRaeT § fafay | oo d@&am 2 9 5 J& FRed SRy o © |

Question No. 1 is multiple choice questions. Four options are given in answer of each part of

this question. Write correct option in your answer book. Question No. 2 to 5 are definite
answer type questions.

5. U3 T 1 B U TS UH 3id BT ©| U G&T 2 9 5 db (P AP & U & | U
T 6 W 15 dF QI i & U | U G 16 ¥ 23 qP o9 3id D U | U A&
24 W 26 IH TR 3id > YA 2| OraH U AT 26 B9 /A MRd U € |
Each part of Questions No. 1 carries one mark. Questions No. 2 to 5 are of one marks each.
Question No. three marks each. Question No. 24 to 26 are of four marks each. In which
Question No. 26 is Case/Source based question.

6. 39 U UF H AT W B3 fadhey T8 g | I wfug geAr # oraRe fawed uee fohar
T 21 U U1 H bacd Th fAbed o7 & SR ST |
There is no overall choice in this question paper, however, an internal choice has been provided

in few questions. Attempt only one of the given choices in such questions.



1 :

(@) fr=Raa & & feder Swadq ToHi® 28— 1

Which of the following has the highest melting point ?

(@) o-SISFARISOIA @) p SEIARNHE
o-Dichlorobenzene p-Dichlorobenzene
(M m- SRRSO @) A9d TAdid THH B
m-Dichlorobenzene All have the same melting point
@) wifeTd wFfeage & CO,d AT 19 H TH $A 3R SH@ 93ard
el fy M oR Ui BT § — 1

Sodium peroxide when heated with Co, under pressure, following by
acidification, yields-

(i) arfeyw d5ive (i) AfeRifcsszs
Sodium benzoate Salicylahldehyde
(i) fefafers s (iv) dlis® ort
Salicylic acid Benzoic acid
IO STSUSITIH FaRIgS Siel Jyged 8 0 <dl & — 1
Benzene diazonium chloride on hydrolysis gives -
(i) @ (i) <9
Phenol Benzene
(iii) FIRESIA (iv) ufers
Chlorobenzehne Aniline
e CaCl, . 6H,0 STt # goiaqar faaifod & <mar g | 9 Aiffe &1
qrcalh HRE (i) 8— 1

A compound Cacl, 6H,O undergoes complete dissociation in water. The
Van’t Half factor (i) for this compound is -

(i) 9 (ii) 3

(iii) 6 (iv) 4

fFr=IfeRaa wrafergel § | ®IF A1 S 3[98cd &M UR 7@ Ud ieideis
< &7 1

On hydrolyses which of the following carbohydrates gives glucose and
galactic?

(i) |geprE Sucrose (i) affecrd Maltose

(ili) @=er=T Lactose (iv) Heferd Cellulose

fforRaa Cu®” Sags % 9 319 |1 91d -8l & 7 1

Which of the following Cu®" halide is not known ?



(i) CuBr, (ii) CuCl,
(iii) Cul, (v) CuF,

@) HE O Afad eSS vl §RT 8l 917 ST Fdhdl o—
Amine that can be not prepared by Gabriel phthalinide synthesis is-

(i) CHsNH, (ii) (CH3),CHCH,NH,
(iii) CeHsCH, NH, (iv) CeHs NH,

() arfaforar A + B——Sa@ie @ forg sifafesar o r=K[A] [B] gRT f&am Simen
2| afe B 31 A= H forar Sy, an Affshar @ sdife grfl ?

The rate of reaction A+B—> Products, is given by the equation r = K [A]
[B] if B is taken is large excess, the order of reaction would be-

(i) 2 (i) o
(iii) 1 (iv) 3

e -~ gl & Q1 el @) aifee (A) 3R BRY (R) & w9 ¥ Rifted far war
U IR 7 I T PIe & AR 3ifha H—

Note-In following questions two statements are labeled as Assertion and Reason.
While answering these questions, you are required to choose any one of the
following four responses.

(i) A T R T 9g ® 91 R, A &1 W& IR BT & |

Both Assertion and Reason are correct and the Reason is a correct explanation of
the Assertion.

(i)A TT R T 99 ® offdd R, A &1 & AURAT a8l BT ¢ |

Both A and R are correct but Reason is not a correct explanation of the Assertion.
(iii) A 91 € JIfdT R 3 § |

A'is correct, R is incorrect

(iv) A T R THT 39T B |

(1) sif®me (A) ST B FhAT Td T8l AT STl & |

HRUT - [Sp Hol S@RAT  qAT i g gl H & g9@ 3d H&d gl 9Ra
B % | 1

Assertion (A) — Zinc is not regarded as a transition element.

Reason (R) — In zinc 3d orbital”’s are completely filled in its ground state as

well as in its oxidized state.

(x1) off@me (A) NaCl & STefid fderd &1 faega smueed UAre W ATRie 19
@ WM TR FARA ¥ <l 2|

BRUT (R)- VTS TR AT 994 & forg fdfawa & sraeagsdr gl 81 1
Assertion (A) — Electrolysis of aqueous solution of NaCl gives chlorine gas

at a node instead of oxygen gas.

Reason (R) — Formation of oxygen gas at a node requires over potential.




2— HAretad &1 JF faRay | 1
Write down the formula of molality.

3— U Ul § TAlS FUMARIT 8 T Hars g=mdl¥d © | I8 fod TR &1 Ao 27

In a cell anode is negatively charged and cathode is positively charged. What type

of cell is this? 1
4— IUASHEATSN AITH K, [Fe (CN)g] BT IUPAC ATH 93U | 1
Give the IUPAC name of coordination compound K, [Fe (CN)e]
5— faeI®a A DI BHI | BF arelT 0T oy | 1
Write down the disease caused by deficiency of vitamin A.
6— =JfdeTd RIS T & ? 39D oifdd i forikey | 2
What are nucleic acids ? Write their biological function.
7— f=feRad &1 aRfia oo | 2
Define the following.
() WRTERYT <74 (@) #ArerRar
Osmotic Pressure Molarity
g— f=faRad § 9 yxd &1 IQE0T Afed FHsISU | 2

Explain each of following with an example.
() Prfder W sifdfoar (@) STERSTenyT
Carbyl Amine Reaction Diazotisation Reaction

9— PIRISY BT 1 fIRaT | SHHT T STgUANT T SR | 2

State Kohlrausch”s law. Give its one application also.
10T I 1 AT & frg A Rerics a1 7 5.5x107% S7 21 i 1
3G 3MMY S DI | 2

A first order reaction is found to have a rate constant 5.5x10"* S™'. Find the helf
life of the reaction.

3121 (Or)
g PINTY 6 gord BIfC @1 HAfhAT P GG AMHRDT & URPIH AR TR
friR T8 Bt B 2

Prove that half life period of first order reaction does not depend on initial
concentration of reactants.

11— FHHAT dd RT & ? d- b & DI F dcd GPhH dcd 8l & ? 2
What are transition elements ? Which elements of d block are not transition
elements ?

12— BRI gdsY, FT ? 1x2=2

Give reasons why ?
(@) TR AfAHHS BT faxed Aoia aRRfar # e =1t |
Grignard reagents should be prepared under anhydrous conditions.
(@) Uferd gogs JEI gaid &, R Sfcl H SIWSOM BId % |
Alkyl halides, though polar are immiscible with water.
31e1dT1 / Or
(@) FARISSIT AR gforemu= ifafhar & forw & fhareia ekt 81 1x2=2

Chlorobenzene is less reactive towards nucleophilic substitution reaction.




() FARTBIH BT [T didel § /g7 STl & |

Chloroform is stored in coloured bottles.

13— 389 ¥l B URHIYT HIFTY 3R SHd &I o foTlRay | 1x2=2
Define fuel cell and write its two advantages.

14— T arfaforanell | wwIfad IRIafe xR forfay | 1x2=2
(@) TEAR A rfaforan (@) faferaaa Geeiyor
Reimer Tiemann reaction Williamson™’s synthesis

15— IUPAC #19a! & S1aR =faiRad & forg 93 falay | 1x2=2

Using IUPAC norms, write the formulas for the following.
(@) aCRIEA gad dAgfsme (1)

Potassium hexa cyanidoferrate (I1I)
(@) TRAUEAGEee (1) FARSS

Hexaamninecobalt (IIT) chloride

16— 791 foU " uspH & T & MR R YA & IR IOy |

On the basis of given diagram answer the following questions.

Piston
Pressure > x v
: ‘ J
' Fresh Salt
Water water water
outlet
2
7
SPM
(1) o3 # & T upH &1 9 folRau |
Name the process occurring in the given diagram. !
(ii) faema® &1 vare fod foen § gar & °?
To which direction do the flow of solvent take place ? %)
(iii) rGURTH fRreett & uRMIvT &1 ?
Define semi permeable membrane. 1
(1v) SWRIGT UhH BT Udb START forfay |
Write one use of above process. 1

17— BRIS & dgd ged W=l 7/ ar 82 1 WRrs fIgd 9 a1 arcd 2?2 3

What are faraday”s laws of Electrolysis? What is meant by 1 Faraday of
electricity?

31erar / Or



(1) 9% BISSISA Seldgle &I AMifhd & I8y | 2

Draw labeled diagram of standard hydrogen electrode.

(il) A9 EISSIOH SAldels ®l SBHNY Sodgls Rl Hed © 7 1

Why standard Hydrogen Electrode is called reversible electrode.

18— (@) fOAlel el aER YSRId &xar g | ol ? 1
(a) Phenol is acidic in nature. Why ?
(@) "I TAT VAT H favg ST | 1
(b) Distinguish between methanol and ethanol.
(1) STS TS 2R Bl W ATRITHRYN AfAHAT TRy | 1
(c) Write the self Oxidation reaction of Diethyl ether.

19— Urfiep, fgcliae dom et CHIAT &1 ugard & fafer &1 quie SIfe | 34
JAAThITAT & IARITD FHIBROT W) IRy | 3

Describe the method for identification of primary, Secondary and tertiary
amines. Also write chemical equations of the reactions involved.

20— =1 aRacHl & forg e FHEReT SR |
Give chemical equations for following conversions. 1x3=3
(@) DfTIH BT | BIHfcSssS
Calcium formate to formaldehyde.
(@) TR A dwilcsSelss
Toluene to Benzedehyde.
(7T) IIfesegs | d~isd URTS
Benzaldehyde to Benzoic acid

21— (@) S1oUA0T0 I[CTBTUA | T IWUTT 2° SHD TRI IUINT I8 | 2

What is meant by DNA fingerprinting? Give its main uses.

(Xg)— T=ITsH R BT & ? 1
What are Enzymes.

3ferar / Or



AT &1 AT faalRay o9 D-rgara ferRad @ wrer ifafhar a=ar & — 1x3=3

Write the structure of product when D-Glucose reacts with the following.

23—

24—

(@) HI HI
(@) dr= HNO; Conc HNO;
(1) Br, ST Br, Water

ICHABIT fheed &5 H d- d&Tdhl @ faures & 94 & forv fom g9180 |
foheeot & faureT Sl & Bl © ?

Draw figure to show the splitting of d- orbitals in an octahedral crystal field.
What is crystal field splitting energy? 3

31erar / Or

Ay {6 [Fe(H,0)s]” Uadt SR & | Safds [Fe(CN)g]” Tdal IgwdHI 21 3
Explain [Fe(H,0)] ™ is strong paramagnetic while [Fe(CN)¢]” is weak paramagnetic.

CeH;3Cl JUF &1 Ufehdl 2aligs (A) Uedhieiell KOH & A1 3Affhar &xa CeHy,
JUGH dTel a&T FHEId! Uedd (B) 3R (C) Il & | &I Uedhie ISRl fhy S
W 2, 3—SIZHIT e d & | A, B3R C &1 S=AT fofffey | 3

An alkyl halide (A) of molecular formula C4 H;3 Cl on treatment with alcoholic
KOH gives two isomeric alkenes (B) and (C) of molecular formula C4 H, Both
alkenes on hydrogenation give 2, 3di methyl butane. Write the structures of
(A), (B) and (C).

(@) T Pife @ fAfohar & for 9 AT &7 egaafed PR | 2

Derive the rate equation for zero order reaction.
(@) H,0, & faued @ gafaa! &l sreuad fod UaR foar Smar 8 2 1
How the study of kinetics is made for decomposition of H,O,
(1) TS IAfHAT BIfe SR MPTHdT # TR T HIIY | 1
Distinguish between order and molecularity of a reaction.

sqar/ Or

1w ferg fewof forRay |

Write short notes on the following.



(@) wm dife sfafmar o SEsmy 1

Half life period of first order reaction.

(@) sifAfshan &1 dife 1
Order of a reaction.

() 919 O Temperature coefficient. 1
(&) SIfAfshar &R &1 Heuce g 1

Collision theory of reaction rate

25— Tt arfdifharment &1 e aHiexer Afed oy |

Write the following reactions with chemical equations. 1x4=4
() Ucslcl HY-T (@) dfoIRT A
Aldol condensation Cannizzaro reaction

(1) BBIeTs Siferd! rfAfear  Hell- Volhard — zelinsky reaction

(&) wIsa—shed URIedRT fAfhar Friedal craft”s Acylation reaction

3rerar / Or
9 @1 99 @ IEtae Iffhare foRay |

Write the chemical reactions for the preparation of following. 1x4=4
(@) vafeetd I Tiifed A

Acetic acid from Acetylene

(@) doifesere | dollfthd

Benzophinone from Benzoldehyde

(1) Wicfesess A WieH

Acetone from Acetaldehyde

() wrHfceerss A JRIGIUA

Urotropine from formaldehyde

26— =4 U 10 e &l ug iR FrefaRead vl & IR dfvig—

f- <ifp dd 9 € 5 fI9esd golag@ (n-2)f diffdec # ydeor &ra €1 4f 3R
Sf—3iffdcedd Bl 91 & AJHT Yh—edlid deal ol &l STAN o | 4f —3iffdced & @
DI IARSH HET AT © | adAEsd 0, f7 R fl4 =T & ReRar & IR W)
STCTT—3TeT JATRATHRYT SaReIU AT € | BTelifh a9 M ATRAIHRYT 37avell +3 & |




WA HET H gfg & A AOEIRSd Al & eR H fafid w7 | & g B

fRY o TgSa Hehad & w9 H ST O § |

Read the Passage given below and answer the following questions.

f-Block elements are those in which ultimate electrons enter the (n-2)f orbital”’s. There
are two series of f-block elements corresponding to filling of 4f and Sf-orbitals. The
series of 4f-orbitals are called lanthanides. The lanthanides f O, f 7 and f 14 show
different oxidation states depending on the stability of the configuration, although the
most common oxidation state is +3. There is a regular decrease in size of lanthanides ions
with increase in atomic number which is known as lanthanides contraction.

(®)

IATSS SWAT & Uh G BT AW ISy Sl +4 SATRITDHROT fa=e]]
yeRd &1 & oIy ST ST & | 1
Name a member of Lanthanide series which is known to exhibit +4
oxidation state.

AhHYT Ocd ST Teldidh S & | ol ? 2
Transition elements show high melting points. Why ?

HHH dqedl DI gAY SR A Ul ugel! ufad &1 o H ud
R W BE S el oerd) & | AHETEY @ ? :
Second and third rows of transition elements resemble each other much
more than they resemble the first row. Explain why ?




